1. Choose the correct option.

In passage 1 “If you've got a sweet tooth..." is closest in meaning to:

a) You have a toothache. b) You like eating sweets.

In passage 1 “...could be a promising strategy...” is closest in meaning to:

a) The strategy looks logical b) the people promised to use this strategy

In passage 2 “The United States and United Kingdom are waging war on sugar..." is closest in meaning to:

a) A war on sugar has started between United States and United Kingdom

b) Both United States and United kingdom have started fighting against sugar

In passage 2 “..cite a study...” is closest in meaning to:

a) completed a research study b) have showed the results of a research study
2. Which passage can these statements be inferred from? Write 1, 2 or B (both).

Example: When you consume less sugar you can be more successful in your tests. Passage 1

a) Consuming sugar is dangerous for your health.

b) More people are getting obese day by day.
c) Low levels of sugar in the blood are good for your brain.
d) Obesity is on the rise in America and the UK.



